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typescript Tue Feb 17 10:50:10 2004 1

postscript(file="Po")
par (mfrow=c(2,1))

library (mass)
mag<-scan("../Data/star")
day<-1:600
plot (day,mag, type="1",main="Magnitude of variable star at midnight", xlab="day",ylab="ma
gnitude",las=1)

junk2<-data. frame (mag=mag, day=day)

junk3<-c(thl=2*pi/24, th2=2*pi/29)
junkd<-nls (mag~cbind (1, cos(thl*day),sin(thl*day),cos(th2*day),sin(th2*day)),algorithm="
plinear",data=junk2, start=junk3, trace=T)
plot (junk4sSres, type="1",ylim=range (mag) ,main="Residuals", xlab="day",ylab="residuals", la
s=1)
graphics.off ()
al)
Residual sum of squares : 54.67214
parameters:

thl th2 ]
0.2617983 0.2166595 17.08578 -1.832544 6.843451 6.073713 7.982854
formula: mag ~ cbind(l, cos(thl * day), sin(thl * day), cos(th2 * day), sin(th2 * day))

600 observations
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typescript

Mon Oct 01 11:45:25 2001 1

> stem(junk4$res)

N =

Median = -0.01585285

Quartiles = -0.2314647, 0.2055498

Decimal point is 1 place to the left of the colon
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